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Time: 10 Minutes | Paper G.Science 4th (T-3)|  Total Marks: 10 |

6th Month, 2nd Week, 3rd Day Unit # 9: Moon

Q.No.1 Encircle the correct answer from the following choices. (6x1=6)
-J:@ut’ﬁ%/’l;)jéglﬁuj;c;ufi;'@/)

(i) Brightest object appearing in the sky after the sun is the?
Se ek I i oy e Tl G
| (a) |Mars Jb | () | Mercury §/7 | (¢) | Moon 4l | (d) | Jupiter /fas? |

(i) Diameter of moon is: e fLUSEeL
@) | 42,00 km 228 42,00 [0) ] 3,500 km #£3.500
(© |36,00 km 536,00 [ (d)]15,00 km 2£15,00

(iii) Moon completes one revolution around the earth in about how many days?
?‘LtéwﬁuﬁL/’J’%vngLuﬁuk
(a) |29.5 days ¢229.5 | (b) | 30 days /230 | (c) |27.3 days ¢$27.3 [(d) |28 days (/228
(iv) Very thin moon is called: ‘awﬁgq Lk

(a) |Badar 2 | (b) | Full moonw’w{ (¢) | Crescent2x2/ | (d) | All of these i

-’

(v) The natural satellite of the earth is: | - d/ﬁ(d]

[

(a) [Sun &s» [ (b)|Moon ,C’.lg (¢) | Venus J}v (d) | Jupiter 2
244#[5()&0;&1!3/}’&)

(vi) The distance between earth and moon is:

(a) | 3,40,000km #3.40,000 | (b) | 3,70,000km #3.70,000
(¢) |3,84,000km ff}g3,84,000 (d) | 3,90,000km }f}g3,90,000
Q.No.2 Write short answers (2x2=4) _u:,,ﬁ .“JL’:?/‘?

(i) Differentiate between crescent and badar. - 7 Z: I:J/.ufu;ui%/

(ii) Why we can see only the same one half the surface of the Moon?
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Q.No.1 Encircle the correct answer from the following choices. (6x1=6)
_u:"@ul'ﬁ%/’l);/’/zh/b?o//):_ufdi@u

(i) Brightest object appearing in the sky after the sun is the?
S Lol D ey e Tl Ty
| (a) | Mars b | (b) | Mercury u’/} (¢ |Moon sl | (d) | Jupiter a2 |

(ii) Diameter of moon is: e U3 Ki.lg
(a) | 42,00 km € 42,00 | (b)] 3,500 km 2£3.500
© [36,00 km #2£36,00 | (d)| 15,00 km 515,00

(iii) Moon completes one revolution around the earth in about how many days?

?‘Lvéu;iu:’g/‘}%,gguf&y:ug

(a) |29.5 days ¢029.5 | (b) |30 days 230 | (c) [27.3 days ¢s27.3 [(d)|28 days (/»28
(iv) Very thin moon is called: ‘Lw‘&l{q Sk

(a) |Badar 4 |(b)|Full moom'tgd'[ (©) | Crescent2i/” | (d) | All of these (1%

N—'

(v) The natural satellite of the earth is: ey (}/}KL‘J:J'

3

(a) | Sun Cur |(b)|Moon 4L | (c) [ Venus J‘:w (d) | Jupiter 52
:‘4,1#5@&»»&;@!@:1

(vi) The distance between earth and moon is:

(a) |3,40,000km #2%£3.40,000 | (b) | 3,70,000km £ 3.70.000
(© [3,84,000km #2£3.84,000 | (d)|3,90,000km 2£3.90,000
Q.No.2 Write short answers (2x2=4) -u.‘."J :JUY/:;

(i) Differentiate between crescent and badar. - /1 (‘: bu"/.u.f»yﬂgb%/

(ii) Why we can see only the same one half the surface of the Moon?
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